ERRARORSIERT —5 N—Z Bl

SH—F

202348118 (X)) 1EREE2H

R HIEE 4 ORitEsts C15 UYSR—i% ‘(fﬁ} " ‘I%EH?’JF&] - | & o0 =
[xE&] 15 :450,000H  23%&:158,000 @  33#&:90,000 @  43%&:68,000H  5i&:45,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N =T : -5-4- - EEOIE (BEE)
118l =wnzove—L i o4 %54% 1.(3_7).6 5-5-4-2 | 39.8 2 ig;t E?&Bﬁ
RN—EVIv— 8B:/—7)b30xv b #HBE77—A
vay 5 | DOEEFUAE 1:37.9 1-1-1-1 | 40.3| — 3 416 | HEMREIE (BEE)
2942 | NYTF—h * 4.0 (11/2) “2) ) J7—2hevay
R:ANWTT—YI B:bvAOvA HBT7—L
o 8 4 | BANMEE 1:38.3 4-4-5-5 |40.4| — 5 460 |ROFE (BEE)
3/5/5 /03Py 54.0 %) (1) | PERE
REy/0704 B:AOVHY USE NS
= 4 | REMAER 1:38.6 3-3-3-4 | 40.9| - 8 | 480 |MTFEA (&R
417|110/ 31 bR BU—L ! 54.0 a2 45 | ) TP—RREYIY
R:F4 I RD—LEY B:RI—TLTVay TATAT7—1
S _ Ho4 | RE3NE 1:38.9 9-9-8-7 | 40.2| - 6 | 488 |BEHF (BHE)
517|9|7Ly b7—F 56.0 a1/ @) | HEEE
RIN=YITSA4 B:EYv b ATIIT /=Y ITr—1L
B4 | KBRS 1:39.6 7-7-6-6 | 41.3| — 7 | 453 | AR (BER)
618(11/33EX A51.0 3) @y | B Bk
Ri7ROVIvT B:YRR RE &
1 - LN o4 | By B el b B B Il - il
RikodO—LR §:aUVF PRI
—R —_H— o6 | BIREE 1:40.8 12-11-11-11| 40.8 | — 12 | 475 |fEREIE (BEE)
8|56/ O—-FIU—7 .0 @ 172) s |PEER
RiW—5—Yv T BRUVER EUFHT7—L
“ \ RZHIZE :40. -8-9- 0| - R (ZEE)
N M R oy i Il O S e
R:F4—FITUSYF B:T—-LRI—V #weE BE
93, o ~ 4 5 | DOERES— 1:41.0 6-6-7-8 | 42.7| — 4 452 | EER (BEE)
100y 7 | F9/0REYaY 54.0 (/2) -4y |deATIBHE
RiALYITSvoelL B:TUIFILRILA— ML AR
= " it 5 | RES 1:41.3 10-10-10-10| 42.0 | — 11 | 421 |EER (BaB)
nj1)1|74740-2 5.0 a1/ (o) |EATIE
R:F4—TTUSVYT BiY /YIS FHREYKS
39 t o4 | #HIIESE 1:42.3 1M1-12-12-12| 1.0 | — 9 437 | REBEX (BEE)
V] 3 K 54.0 © G |BET
R:FF B:RoLEFU—F el e
@ 11— —®BIEfI
10—+— 2,8,10,5,12,7,11,4,9,1,3,6
20—F— 2,8,10,5,12,7,11,4,9,1,6,3
30—7— 2,8,10,12,5,11,7,9,4,1,6,3
43—F— 2,12,8,10,5,11,9,7,4,1,6,3
o ILRE
B B 12 530 | [ D1 R 2-12 420/ % 3= 2-8 1,240 3EE 2-5-12 1,820
7B B 12 170 5-12 480 Fs E 2-12 1,230 3EH 12-2-5 10,1804
2 140 2-5 460MH Ba 12-2 2,620
5 140M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




